Bubble Tom
Sige fon Teen on adult: 56/58 cm.of- hat sige
1 ball of Lollypops Bouton dion

Cirncwlor needles 6nmwéﬂvwcabloe$»60 o2 80 ecms.

A stileh marker

Poinls and obbrevialions :

5t: 6%!&
k : knil
Iw:fw/zl
m,]ma/w[

BB : bubble or noppe : knil the same stilch 5 times: onwmﬂstMwL, once on the back sthand, again
mﬂstM enwa?ammﬂwbad{/d?wnd/, mlaxsttinwmﬂwé—&mnts‘bwm& 5/%#&%&55%/&% on
ﬂwuglntneedle/, Turn your work, Izw/zlﬂw5 slilches. Tumﬂwpmma?am bind/eﬁ;r4 95»171&5512 in

knitting them.
K2tog - knit 2 together

%% : hnitthe metive between ™ and* as many times as necessany To finish the round.
(..) x ...: Knit the/patlern in panentheses as many times as it is indicaled affer the "
Rt 11 to cinculans always knit next nound: * ki, pl *

R : reund

Gauge: 13 stitches / 16 rows.

Model- Camille Delatrace; Les W&I de (amille.com.

Ary W%&%MWW%W MMMWJWJMyWMW%&WMM
cme/zl'sblz?i&md?im


https://lesaiguillesdecamille.com/Bouton-d-Or-c-5_107.html

(Work -

Cast on 66 stitehes, form. the cincle , putthe stitch manken and hnit 7 tounds of nibs U1, then:
Rl - *k6, mi* (775Y)

R2,3 5 6%

R4 : *k7. mI* (88sY)

R7 - 8, mi* (99s1),

Then knit as many rounds as yow need. to neach 9.5 cm total height; and decrease:
RI - *h9, K2tog* (9051

R2 - %129, BB*

R3.6 9%

R4 - k8, K2tog™ (85t

R5 : ki3,(BB, k26) x2, BB, hi3.
R7 : ki, K2teg” (7259

RS: k5, (BB. kil)x5, BB, k6.
RIO : *%6, K2tog* (6351

RIl - *BB, k20*

RI2 : *h5, K2teg* (5451

RI3, 16,18, 20, 22, 24 - *k*
Ri4 : k4, R2tog* (4557

RI5 : k7, (BB, ki4)x2, BB, k7.
RI7 - "3, K2tog* (3651

RI9 : k2, K2tog* (2751

R21 - ki, K2tog* (1851

R23 - * f2tog * (95

wawule/lgil, le passer dans Toutes les mailles pmﬁxe/v/e/hautdwbsmet /wniheful’aui?wgil el couper les 2
a has.



